oubgubggn

oouoobodooooboooogd

0000000 120 130 (O)
0000000 120 180 (O)08:00-08:50

gbbobuoooobbbuoooobbobooodg,bbuoooobbbuoooobbbooon

1 000000000 oobodobdn.
or + 1

W ore 2™
3x
@ s
3r—11
2 —6x+5
3r—1
2 -1
20 — 1
O w2~
9x B

22 —9r + 18
3r+6
2+ x—20
102 —40
x2 —4x — 21

(3)

(4)

(6)
(7)

(8)

8r + 1 B
24r—2
2r — 6 B
22—6x+5

(9)
(10)

Doo0o0o0o000]



2 UJoooboooboooooobooon.

62% — 18z — 6

() (x —1)(x+2)(x+4) -

522 — 10z — 3

N Py e P

6x2 — 11z — 41

(3) (x —=3)(x —4)(z+1) -

622 — 29z + 25

SO P e P

522 +8x —5

(5) (2 —1)(x +3) -




